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1 & 2 Review 


Name _________________________________ Date_________________ Blk_____

1. Convert the following to the indicated units.

a) 15 cm =  ________________ m



b) 0.85 km =  ________________ m

c) 21 km =  ________________cm



d) 91 mm =  ________________cm

2. On a map 5 cm is equivalent to 40 km.  

a) If the distance between Seaquam and Whistler is 154 km, how far will it appear on the map?

b) Express the scale of the map as a ratio in lowest terms.

3. Area and Volume conversion.
a)
an area 50 mm by 46 mm to square centimetres

b)
an area 16 square kilometres to square metres

c) a volume 35 cm by 15 cm by 1.5 m in cubic millimetres
d)
a volume 180 000 000 cubic cm to cubic metres
4. Calculate the surface area and volume of each object
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Find the Surface Area of the following shapes. 
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6. Calculate the volume of the following objects

a)




b)




c) 


7. Find the missing dimension given the surface area of the shape.  
a)






b)

8. Calculate the missing dimension.

a)
A cylinder has a volume of 
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 and a height of 11 cm. What is its radius?

b)
A cone has a height of 3 cm and a volume of 1.77 cm3 . Determine its radius.

9. A dome-shaped tent has a diameter of 9 m. How much material is needed to make the tent, to the nearest tenth of a square meter? Hint: A dome is half a sphere.
10. The volume of a cylinder with height 15 cm is 424.12 cm3. Calculate the surface area. 
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Answers:


1a. 0.15 m     b. 850 m    c. 2 100 000 cm    d. 9.1 cm  		2a. 19.3 cm     b. 1:800 000


3a. 22 cm2    b.16,000,000 m2   c. 78,750,000 mm3   d. 180 m3


4a. V=210 in2 SA=276 in3    b. V=12.56 in2  SA=31.4 in3    c. V=88.99 cm2  SA=34 cm3    d. V=150.8 cm2 SA= 248.8 cm3


5a. 619.9 mm     b.1565.1 cm    c.  238.8   6a. 114.5 m3 b. 2144.7 c m3   c. 654.5 cm3     7a. 20.0 mm   b. 35.0 cm   


8a. 4 cm   b.  0.75 cm     9. 127.2 m2    10. 339 cm2
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